OpenMP

2003 21 COE
COE
T 2004 COE
I OpenMP?
OpenMP Symmetric Multiple Processors, SMP
directive
Hitachi SR11000 SMP OpenMP
I
Hitachi SR11000 1 8CPU
2004 Hitachi
SR8000 1 3
Hitachi SR11000 I

ICCG OpenMP

OpenMP
OpenMP
SMP
1996 ASC
3 Advanced Simulation and Computing ASCI
SMP
OpenMP
OpenMP
45 4
OpenMP MPI Message Passing Interface °

Yhttp://wwe=solid. eps.s.u-tokyo. ac. jp/ ~nakaj i ma/ cl ass/

2 http:// ww. opennp. or g/

> http://ww.llnl.gov/asc/

4 OpenMP CPU 2006
2007

° http:// ww. npi -forum org/



FORTRAN C

ICCG
data dependency
OpenMP
OpenMP
dark side
3
o
. 2 reordering

. 3 OpenMP

FORTRAN C

http://www-solid.eps.s.u-tokyo.ac. jp/~nakajima/tutorial/srlik/

Windows

MicroAVS ©

OpenMP
OpenMP

I $onp parallel do private (ip,i)
#pragma onp parallel for private(ip,i)

I $onp parallel do private(ip,i) reduction(+: RHO
#pragma onp parallel for private(ip,i) reduction(+: RHO
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TAR

1 Lesson-1-C.tar C , Lesson-1-F.tar FORTRAN
2 Lesson-2-C. tar, Lesson-2-F.tar
3 Lesson-3-C.tar, Lesson-3-F.tar

<$tutorial -top>
TAR

<$tutorial -top>/Lesson-1 <$L1>
<$tutorial-top>/ Lesson-2 <$L2>
<$tutorial-top>/ Lesson-3 <$L3>

C FORTRAN
<$tutorial _top> C FORTRAN
Hitachi SR11000
makefile
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f =dfloat(i, + j, +k,)
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[A] sparse
ICCG
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[A] 7 symmetric positive definite
conjugate gradient method CG
6 Krylov
1 [M]
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LU Incomplete LU factorization 1LU

LU [Al=[L][U]
direct method
[A] [L] [V]
0 fill-in
LU fill-in M]=[C][0]=[A)
ILU(O) fill-in fill-in
ILU(O) (Al [M]
LU Cholesky factorization
modified Cholesky
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Lesson-1-C.tar Lesson-1-F.tar <S$tutorial-top>

<$L1>/run
<$L1>/src

<$tutorial -top>/Lesson-1/run
<$tutorial -top>/Lesson-1/src

<$L1>/run/ L1-so

$> cd <$L1>/src
$> make
$> Is ../run/L1l-sol

mesh. dat | NPUT. DAT

$> cd <$L1>/run
$> 90 -0 mg.Ff -0 mg cc -0 mg.c -0 mg

$> ./mg

1 NX NY NZ

nmesh. dat NX=4 NX=3 NX=2
mesh. dat
4 3 2
24
1 0 2 0O 5 013 1 1 1
2 1 3 0 6 0 14 2 1 1
3 2 4 0 7 015 3 1 1
4 3 0 O 8 016 4 1 1
5 0 6 1 9 017 1 2 1
6 5 7 2 10 0 18 2 2 1
7 6 8 3 11 0 19 3 2 1
8 7 0 4 12 0 20 4 2 1
9 010 5 0 022 1 3 1
10 9 11 6 0 0 2 2 3 1
11 10 12 7 0 0 23 3 3 1
12 11 0 8 0 0 24 4 3 1
3 0 14 O 17 1 0 1 1 2
14 13 15 0 18 2 0 2 1 2
15 14 16 0 19 3 0 3 1 2
6 15 0 0 20 4 0 4 1 2
17 0 18 13 217 5 0 1 2 2
18 17 19 14 22 6 0 2 2 2
19 18 20 15 23 7 0 3 2 2
20 19 O 16 24 8 0 4 2 2
21 0 2 17 0 9 O 1 3 2
22 21 23 18 0 10 0 2 3 2
23 22 24 19 0 11 O 3 3 2
24 23 0 20 0 12 0 4 3 2
432 NX NY NZ 2 24 4x3x2
3 10



. 7 NEIBcell(i k), k=1~6
. 8 10 XYZ(ik), k=1~3 4
NEIBcell(i,k) k=1~6 6
2 b
i
e NEIBcell(i,1)=i-1 NEIBcell(i,2)=i+1
o NEIBcell(i,3)=i-NX NEIBcell(i,4)= i+NX
o NEIBcell(i,5)= i-NXx NY NEIBcell(i,6)= i+ NXx NY
15 mesh. dat
NEIBcell(15,3), NEIBcell(15,6) 3 6
0
13(14 16
z y
1(2(3|4
X
4 15
XYZ(i,k)
| NPUT. DAT | NPUT. DAT
METHOD =1~-3
DX DY Dz 3 1 AX AY AZ
OVEGA
EPSI CCG




METHOD=1

12 = a;
METHOD=2 | SO
12 & — ik ” k'IJk
k=1
METHOD=3 [A]
METHOD=1
METHOD=1
<$L1>/run mesh. dat | NPUT. DAT
$> cd <$L1>/run
$> ./L1-sol
<$L1>/run test.inp
MicroAVS
5

MicroAVS

32°=32,768




MAIN INPUT

I NPUT. DAT

POINTER_INIT

nesh. dat

BOUNDARY_CELL
$=0

CELL_METRICS

PO1_GEN

SOLVER_ICCG
| ICCG
METHOD=1

SOLVER_ICCG2 FORM_ILUO
— ICCG — 1
METHOD=2 ij = &~

By -dy - 1

J
k=1

SOLVER_PCG
B ICCG
METHOD=3

CRS compressed row storage 6

(1) i=1-N N

B(1) =R

I NL(i) : Y

I NUCi ) : Y

LAL(j, i) i IN
j =1~ NL(i)

LAY, 1) i —1-N
j =1~ NU(i )

ALGLT) ] i =1~N j=1~INL(i)

AUTL 1) i i =1~N j =1~ NU(i)

CG [Al{p}={a}
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doi=1, N
VAL= D(i)*p(i)
(

do j=1, INL(i)
VAL= VAL + AL(j,i)*p(lAL(j,i))
enddo
do j=1, INU(i)
VAL= VAL + AU(j,i)*p(1AUj,i))
enddo
g(i)= VAL
enddo
FORTRAN
ICCG
OpenMP
RHO= 0. dO
doi=1, N
RHO= RHO + r(i)*z(i)
enddo
doi=1, N
p(i)= z(i) + BETA*p(i)
enddo
doi=1, N
VAL= D(i)*p(i)
do j=1, INL(i)
VAL=VAL + AL(j,i)*p(l1 AL(j,i))
enddo
do j=1, INUi)

VAL=VAL + AU(j,i)*p(1 AU(j ,i))
enddo
g(i)= VAL
enddo
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RHO= 0. dO
ISomp parallel do private(i)
I1$omp & reduction(+:RHO)
doi=1, N
RHO= RHO + r(i)*z(i)
enddo
I1ISomp parallel do private(i)
doi=1, N
p(i)= z(i) + BETA*p(i)
enddo
I$omp parallel do
1$omp & private(i,j,VAL)
doi=1, N
VAL= D(i)*p(i)
do j= 1, INL(i)
VAL=VAL + AL(j,i)*p(l1 AL(j,i))
enddo
do j=1, INU)
VAL=VAL + AU(j,i)*p(1 AU(j ,i))
enddo
g(i)= VAL
enddo



d, D(i)
do i , N
VAL= D(i)
do j=1, INL(i)
VAL= VAL - (AL(j,i)**2) * DD(IAL(g,1))
enddo
DD(i)= 1.d0/ VAL
enddo

MI{z}=[CO T ]{z)=1r)

doi=1, N
z(i)=r(i)

enddo
[Cliy}=1r)
doi=1, N
W/AL= z(i)
do j=1, INL(i)

W/AL= WAL - AL(j,i)
enddo

* z(IAL(J . 1))
z(i)= WAL * DD(i)

enddo

j, i) * z(IAUQ, 1))
z(i)= z(i) - DD(i)*sSwW
enddo

DD z DD z
7 a 16 7 b

7 cC
13| 14| 15| 16 13
9 10 | 11 | 12 do i=1,4 do i=5,8 do i=9,12 do i=13,16 9 || 9
5 6 7 8 énddo énddo énddo énddo 5 5

=4
2 3 4 1 1

a b 4
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